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clf
ite=zeros(10,3);
syms f(x) g(y)

f(x)=x"3+7*x"2-1
f(x) = =1+7x%+x
df=diff(f,x)
df(x) = 14x+3x°

fplot(f, 'k', 'LineWidth',1.5);hold on;grid on
x1lim([-2,3]);ylim([-10,50])

Dev=1;
X0=1.0;
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ite(1,1)=1;
ite(1,2)=x0;
ite(1,3)=Dev;

for n=1:20
if Dev>1.0*10(-5)
coe=double(f(x0)/df(x0));

X=X0-coe;

Dev=abs(x-x0);

h(y)=double(f(x0))+double(df(x0)).*(y-x0);
fplot(h);hold on

fplot(x@,f(x0), " '-.0ok");hold on

X0=X;

no=n+1;
ite(no,1)=no;
ite(n@,2)=x;

ite(ne@,3)=Dev;

%ite(no,:)

else
end
end

format long
ite(1:n0,:)

ans

1.000000000000000
2.000000000000000
3.000000000000000
4.000000000000000
5.000000000000000
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1.000000000000000
0.588235294117647
0.412928007023705
0.370977420136931
0.368404501934404

1.000000000000000
0.411764705882353
0.175307287093942
0.041950586886774
0.002572918202527
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6.000000000000000  ©.368394853868558 0.000009648065846

format
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2. sin(x) "3+2%cos (x) "2-1=0 0 * = =05 sppofir 2 Kl k k.
clf
x=-5:0.1:5;

f=sin(x).”3+2*cos(x).”2-1

£ =
0.0427 0.0178 0.0039 0.0001 0.0063 0.0230 0.0506 0.0903 - - -

plot(x,f, k"', 'LineWidth',1.5);hold on
x1im([-2,2]);ylim([-3,3])
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clf
ite=zeros(109,3);

syms g(x) dg(x)
g(x)=sin(x)"3+2*cos(x)"2-1
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g(x) = 2cos(x)?>+sin(x)? -1

dg=diff(g,x)

dg(x) = 3cos(x)sin(x)?> — 4 cos(x) sin(x)

fplot(g, 'k', 'LineWidth',1.5);hold on;grid on
x1im([-2,2]);ylim([-3,3])

Dev=1;
X0=-0.5;
ite(1,1)=1;
ite(1,2)=x0;
ite(1,3)=Dev;
for n=1:20
coe=double(g(x0)/dg(x0));
if Dev>1.0*10°(-5)
X=X0-coe;
Dev=abs(x-x0);
h(y)=double(g(x0))+double(dg(x0)).*(y-x0);
fplot(h);hold on
fplot(x@,g(x0), " '-.0ok");hold on
X0=X;
no=n+1;
ite(no,1)=no;
ite(no,2)=x;
ite(no,3)=Dev;
%ite(no,:)
else
end
end
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-2 -15 -1 -0.5 0 0.5 1 1.5 2

format long

ite(1:n0,:)

ans =
1.000000000000000 -0.500000000000000 1.000000000000000
2.000000000000000 -0.687977541168478 ©.187977541168478
3.000000000000000 -0.666432223852012 0.021545317316466
4.000000000000000 -0.666239448996888 ©.000192774855124
5.000000000000000 -0.666239432492515 0.000000016504372

format
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clf
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syms f(x) g(x) h(x)
f(x)=x+sin(x)

f(x) = x+sin(x)
g(x)=x
g(x) = x

h(x)=F(x)/g(x)

h(x) =

x + sin(x)
X

fplot(h)
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f Ex=taylor(f)

f_Ex(x) =
3 5
2x-L 4 L
T T 120

g Ex=taylor(g)

g_Ex(x) = x
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hp=expand(f_Ex/g _Ex)

hp(x) =

X4 X

6 120
hp(@)

ans = 2

il
X

1. x-0

2. limlogl+x)
X
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